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Note: - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (il.»

Q.1 Questions /=iy A B C D
1. -‘;_u;r(f,»uf;.u:&,, Nm Kgms™ ~ Ns Ns™
Which of the given is the unit of momentum?
F=-menmeee- ATV
2. 1.8C+32 1.8C—32 1.8(C+32) 1.8(C—32)
Fahrenheit scale F = --------- v
3. -FEni L Nm~2 Nm N?m™ e )
The unit of strain is: | No unit
. e oS B L e 7 ol 3 i "
Example of a good conductor of heat is: Wool Water Wood fron
5. L1491 S Lo Sl 7Tms™ 14ms™ 21ms™ 28 ms ™
The K.E of a body of mass 2kg is 49 J, its speed is:
_ " r: Y A
8. '?'4'4(5/U*’ 4 W+h ”/é@\— h Wxh W/h
Potential energy is equal to: A & |
- . BN %
—e Uy 56 oy ol 7 OGT cm cm
The formula for specific heat is: A AT AT
(Continued/PTO) N (Gl
A NS
&\A
~ (2)
Q) -
Questions /iy | A B C D
)
- LS/ £ S
8. P b bt Ak SE=0 TP=0 S W =0 S 1=0
Mathematical form of 2nd condition of equilibrium is:
s |  TN¥ =(F) v Pr 8P y— P Pr + Py Ps? + P?
Force (F) = --------- t t t t
10. U T2l BT A28 42300km | 70600 km
Earth’s gravitational force of attraction vanishes at. Infinity
11. LA S S 2as at t
In first equation of motionVy — V;=--aven-- ;
12. el A B AL NI Rt B | g nes 0.00309m | 5.0345m 537.2 m
Which of the given quantities has three significant figures?
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-Note: - Section B is co'mpulsory. Attempt any TWO questions from Section C. ezl i f;_,u:(’,-' ,&_‘E_d;ur,, o
| SECTION-B /»»
2.  Wiite short answers to any FIVE parts. (5x2=10) _£/ L/ =2 /"' L,mf,tc.éf e
i.  Define nuclear physics. -é'J/JU/ SR
ii.  What are prefixes? Give examples. .u.uf u"@-?wu’ /d/ i
iii. Whyis trie use of zero error necessary in mea‘surin_g instruments? ?q_d»_/"u[ Je18 s g 95 Lf' b i
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iv.  Define force and write down its SI unit also.
v. Differentiate between mass and weight.

vi. When a gum is fired, it recoils, why?

vii. Whatis global positioning system?

viii.  Differentiate between field force and gravitational field strength. 245 u:_-:swc!,».l!d’! dg/ D viii
3.  Write short answers to any FIVE parts (5x2=10) B f ez L,izléga.éf 3
i, Name types of motion. L rbé:(L-'"'J S
~ii.  Give an example of a body that is at restand in motion at the same time. "”,‘f! oS ]muﬁdbuicﬁ:w..gﬁﬁ::dt‘qf ‘et i
iii.  What do we study in Kinematics? Sl S AT ERA i
~iv.  Define density and write down its formula. | | 2, Ur;s;}lz-f - /"'J u"*-.# AV
V. Why dowe make a mercury barometer instead of water barometer? ALt s a8 p e o n L
vi. Name application of Pascal’s law in daily life. ) {\\ L Jubl b’uﬂs‘._f.‘ﬁt‘;gfm £ Vi
vil. Name ways of transfer of heat. | f/—%{e,\)) -éfrl-é:uﬂ/’ﬁf" Wedz il
viii. ~Why does sea breeze blow during the day? N C\/\ > te (KU ,f LA i
(PTO) fo%\ 2 (Z102)
2
QS
05> a% kcity.or %o
O dKCILy.
O Q Q (2) -p J g
W
4.  Write short answers to any FIVE pa p H (5x2=10) L Felz P Langle 3. -
i.  State second condition of equnllbﬁi{m EEokeh AU /»J d /d:(' - i
ii. Define axis of rotation. L) S (.J’~ Y1y /t i
“iii.  Give an example of a body which is at rest but not in equilibrium. Xy 4 ;’d:fu-'jg nutuaj.e‘{_:dr‘x‘!f 2 i
iv.  Write down any two uses of solar panel. epsnl )y v
v. Whydo we need energy? &;.unrf eSSt
vi. How can you find the efficiency of a system? vu,::é/ r:l”d: ..,:.,TJ? J_{rJ (“’ (,/ Vi
vii. What extra features are added in a clinical thermometer? cdb S eler? JUS Ut 2y 2 i
viili.  Define specific heat capacity. S PSP S i
SECTION-C /r>» |
Note: Attempt any TWO questions. Each question carries NINE (9) Marks. | -w/' @)L Jir ﬂ-é.:zy:'.’éamr»c;(j:(téi

5. (a) Explain motion of artificial satellites and find speed of a satellite. @) et brfoprngEeblyrivwr s (D) s
(b) How much force is needed to prevent a body of mass 10 kg from falling?  (5) kg §E L L SELL AT K10 (L)
6. (a) Draw a speed-time graph for a body moving with uniform acceleratlon (4) Jl_av_al/ (e-ub’(’ Lnl oS ic.-..w)fs(/w () _6

2
From this graph derive the equation of motion S = V;t + at o ZuS=Vit+ = - Lat?es S 7esidiS
(b) What would be the volume of ice formed by freezing 1 litre of water? (5) 08w ol .i,;LLng/’J b e

7. (a) Define co-efficient of linear thermal expansion and derive its equation. (4) St F Izt y PSR L5 s () 7
(b) A car weighing 12 kN has a speed of 20ms-1, Find its kinetic energy.  (5) LA U1 20ms ™ e M3 12 KNG (L)
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